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3. A graph is shown in FIG Q3, where ‘Y’ values are on ;th’eWe?ti‘éaL*%aih

values are on the horizontal axis.
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5.  The diagram in FIG Q5 shows two lntersecting circles EA
The length AB is 8 cm. ¢

Determine the area of the shaded section.
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11. A container of a mass of 32.6 kg has a horizontal force of 122.5 N applied to it
which causes acceleration in a horizontal plane.

The friction coefficient between the container and the plane is 0.34.

Determine EACH of the following:
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Section B

7. Anengine flywheel has a diameter of 1.2 m and rotates at 5530 rads/min.
Determine EACH of the following:
(a) the linear velocity of a point on the rim in m/s;

(b) the rotational speed of the flywheel in rev/min;
(€} the angle in degrees tumed through by the flywheel per second.
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From the ultimate sheer stress, and the cross

sectional area, | can calcualte the force require to
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So. | need 4712.388N to break the Pin Sol need 7800 N to break the plate.




